RIR AT ERHHRE Ball Screw Support Units

FE
Outline

KSSHEH T & 1& & MEURIR L AT im0 2B 1 R 51 = fm . MSURFIZE LUME R ST ZRA VBl ERIBEERIR T E &8,
SEI T NBUE, BRI AT AR R BIKSSIRIR AL AR TS IR Mhis L IF S SRR LATEC & ER.

KSS provides the customer with suitable Support Units for end journal of Miniature Ball Screws.
MSU series have features of light weight & compact compared to existing series.

Our Support Units fit the standard end journal profile of KSS Ball Screws.

Please try and use them as well as Ball Screws.

MSU &%
MSU Series

GU RN, EEES0% ML gmmaissom
Compact Support Units

Light weight (more than 50% dowrn)

5T~ ML / Comparison to our current model

N 4

1£7= & / Current type

4

= - ‘ SR 40

@Fh3 / variation

KERTRARMSURTD Z BB A ZRIMHAEE, 7% ER P ARIMN R RIRTS . A B A EE M | 2 M8 415
BRI EN B RS UE S~ RE, EEXEERRE, IMEERE.
Compact Support Units(MSU series) provide 2 choices of Housing type, which are Pillow type and Flange type.

Fixed side and supported side Units are standardized for each type. In case of Pillow type, it became light-weight
& more compact compared to our conventional type.

£ / Pillow type XA/ Flange type

@#li% / Specifications
KER T RUA R (MSURT) R RH AR A S B A FN R, EABRELERE . At TH B RATFRM R,
AT T A B, AT AT A AR AN (SUI2) M R+ E N T T sh BB 1525878 BE B9 7= &, 1 1B 1B [IKSS
;§.‘Lﬁ0
Angular Contact Bearings built in Compact Support Units(MSU series) are made from stainless steel and low

contamination Grease is applied. Other components of Support Units are also made form stainless steel or are
coated by black finishing. These series can be used in clean-environment.

[MSUZRFIERAsF / Ball Bearings for MSU Series]
FatEfhBkEH& / Angular Contact Ball Bearings

BFSER LA HMSUERT))EE MY This series is the Angular Contact Ball
Bearings built in fixed side of Compact

e @ FTERAER K . . .
N . e Support Units(MSU series).
- - % ARTE A P K, A 7R S8 R AR S 57 O AR Trl:izpcarn belprovided arsI a set of DF or
Q = AWM AHE . (SHEL115-E11651) DB configuration only.
Q (Refer to dimension table in page
L E115-E116)

RIATk4HA / Deep Groove Bearings

FELAME T 3R R B E S RBRE MR NME RS, S TR E /MBI, RIES TRBURIRLAT,
This type of Support Unit has features of light-weight & compact profile compared to our conventional
Support Units. KSS believes this type is suitable for Miniature Ball Screws.

AT EER T REHMSURT) ZEM
BRIV AERGH R
RIFAFPEX, AR FHEAHEE.

This series is the Deep Groove Ball
Bearings built in supported side of
Compact Support Units(MSU series).

@) 203 _ o This type can be provided as a Bearing
@ (SMEL17-E11870) itself.
& (Refer to dimension table in page

jun MJoddng

HEREE

O

CEBBRT UEF R BB, RARELSE N T REFL
B, EEERIMNEERE.

- RERHITT MEEIRR B SRR, R T
ERENIE.

- FIERRER AR F E AR, Br e M REEE R H B E D,
AKRFHET AAR .

- AR A AWM B, HANBREREFE, hAEx
LIMEHRER

- RY|REFEMBNRT (3) 7= i, HEHB /N BURITR 24T
R ZReBH .

R BIAE Z B R A (B E M SR P @ An gL, 4
AT RFPHEESEE.

@®Features
By eliminating extra shape of Housing, and

minimizing pitch of mounting holes, light-weight &
compact design Support Units became reality.

- Pre-load controlled Angular Contact Bearings are

installed, so Rigidity can be kept high.

- Reasonable price has been achieved with reducing number

of components, because oil seals have been eliminated by
using shielded type Angular Contact Bearings.

- Angular Contact Bearings are made from stainless

steel and low contamination Grease is applied, so
Support Units can be used in clean-environment.

+ Ultra-compact size (f3) is standardized, it would be

suitable for Ultra Miniature Ball Screws.

- Pillow & Flange type are standardized for both fixed &

supported side, so wide variety of choices are available.

E117-E118)

E102

jun Moddng

HEREE




HHERE
jun MJoddng

E103

KSS37 ZRLAH IR 1T A AT A R R BIKSSTHBURIR L2 AT ROARE RS K Bl _E - KSSHRERHIR TSR B H 3 R BIKSS T ZR4A Y —

SR TR

KSS Support Units are designed to fit standard end-journal profile of KSS Miniature Ball Screws. Table below

shows KSS Support Units list corresponding to standard end-journal profile.

[&#8M / Supported side]

—0.002

$2g6 —0.008
/ /¢1.5+8.06

R0.15 max

3
9 i
39 ~
Sd| :
[N o
™ &
hd B |
|
R0O.15 max
0.5°3"
4.352%0.05
7

Brg. Inner dia. Support Unit model Brg. Inner dia. Support Unit model
HWERNRE BRI ZE HWERNRE &R ERE
f2 MSU-3CS / MSU-3GS f3 MSU-4CS / MSU-4GS
2| o =
5% 2 Sa ~
< i 2
B4 O
( _ < \
1
RO.2 +0.
e 0.5 0 ! RO.2max 0 8+0.1
5.35+0.05 20
6.818*
8 (PN
l—9 ]

Brg. Inner dia.

HWEANRE

Support Unit model
BRI ZA

Brg. Inner dia.

HERNRE

f4

MSU-5CS / MSU-5GS

Support Unit model
BRI SRE

fe

1) WMFHER 08K @ 1ORARAERLAR Fr 3 R 49 ST 2B 1,

MSU-6CS / MSU-6GS
MSU-8CS / MSU-8GS

HERARLE

Note) Request for Supported side Support Units with @8 and @10 as well as standard design,
please ask KSS representative.

[EZEM / Fixed side)

N

.5

\ il

95

0.002
0.008

$396

o

$2h6 -0.006

e

e e

| \
RO.1max

17

$3h6 8,006

30°x0.3 o
(=<3
o5 s M4x0.5
[
b g/
| t
| T [ [ —
\ - — ¥
R0O.2max
6.5
18 5
6 23
29

Brg. Inner dia.

Support Unit model

4 22
26
Brg. Inner dia. Support Unit model
RS BRI AN
f3 MSU-3C / MSU-3G
30°x0.5 2
3 s M5X0.5 o

$5 -0.006

-0

[
o =

T e E— S
\R0O.2max

$4h6

Brg. Inner dia.

Support Unit model

\ RO.2max
22.5

B

AR BRI RRAEH
f4 MSU-4C / MSU-4G
30°x0.5 §
n 3 z9 ocli
%i ‘—] == M6x0.75 ©
| i S N
\7 _ ~ g
J
—= J
8—8.2

30

37

Brg. Inner dia.

HARE

Support Unit model
BRI REH

f6

MSU-6C / MSU-6G

AR begicl: ol sk Ly
f5 MSU-5C / MSU-5G
\ 30°%0.5 o 2
b=l 4 3 M8x1.0 s
O
\ \Q 2 fé 4\
_ _ | i
| B
RO.2max 9
27 10 1082
8 37
45

Brg. Inner dia.

HARE

Support Unit model
& AR R

f8

MSU-8C / MSU-8G

A IEMARR 101 2B FRER KBTS R B 224B 14, I EEIRARLQF
Note) Request for fixed side Support Units with @10 and @12 as well as standard design,
please ask KSS representative.

E104

HEREE

jun Moddng



OR#EHIE / Mounting procedure

1. 250 4AFRAR

DBEEM S IRE HEEERKRLAT L.
ELIB IR ZRE N
E2) BB RENE, BRI RIREEHITEE,

B R E LA .

DBAEEMZREHF, A RBHITRE, Hil
WEMIR P IERNIRLL TR -

3R AE M, AL E EFRA I T .

Stop ring/1E R
Bearing/3#7&

1.Assembling Support Unit
1)Mount the fixed end Support Unit onto the Ball
Screw.
Note 1)Do not disassemble the Support Unit.
Note 2)Tighten the Lock-Nut after inserting the
Shaft into the Support Unit, and make
sure that the set piece is not allowed to
curl.
2)Tighten the Lock-Nut after inserting into the
fixed end Support Unit, and secure using the set
piece and hexagonal socket head set screw.
3)Mount the supported end Bearing, secure with
the stop ring, and fit into the Housing.

Hexagonal socket head set screw
AR IR

Set piece/E ik \P

=> ,E ,,,,, R NS ) I

Supported end/3 M)

2. T FEMRKRLITIRHAR
MRS MBENRE

DBRIRLFIZEHEAN TIES (ERFERIHEAIESD)

EIGETELE -
2) 185 Bl E 37 Z24B IRt [ FE B 2L e

ED A, HR TEa R AR MEITE LD, 7

¥ TG RER AT R BERRTS.

Collar/%h3k
Lock-Nut/$iZ42 £

Fixed end/EE M

2.Mounting the table on the Ball Screw Nut
and mounting the Support Unit on the
base
1)Insert the Ball Screw Nut into the table, or, when
using Brackets to attach the table to the Ball
Screw Nut, insert into the Bracket, and loosely
tighten.
2)Loosely tighten the fixed end Support Unit to the
base.
Note 1)Move the table toward the Support Unit
and center it. Adjust to ensure that the
table moves smoothly.

Move in both directions and adjust to ensure
smooth movement over entire stroke.
A%, FEATMEBREBEHKRES.

<

=

Table/ TiE&

Bracket/+E%2

Supported end support unit
STHEM SR

Fixed end support unit
Bl E M 3 22 4R 14

3. Z MM ZMEENRERARETHIA

DR TEERIEEMINTHIITE LD, REETLE
SiESEE, FHFERBERFREHRT, R
ElEEE E B EE £

)18 T3 RN RIR L AL Hm A B 5D 3 =) (8] B, (5]
B SE R E AR 6 | (B2 M 32 R4 1 K ST MIAM R

Measure Axial gap
) £ 4 1) (8] B

3.Mounting the supported end Housing on

the base and checking accuracy

1)Move the table toward the supported end
Housing and center it. Move the table in both
directions and adjust to ensure smooth
movement over entire length. Secure loosely to
the base.

2)Check the Run-out and Axial gap at the Ball
Screw Shaft end using a dial gauge, and fully
tighten the Nut, fixed end Support Unit and
supported end Housing.

Measure Run-out
PSS S

4.5BHEER
DRFENEERERF L.
2)18 13 BX 25 FR FR AL ARIR 2241
DIFHITRITHIEREIT

ﬁ ,,,,,,,,,,,,, I

4.Connecting to the Motor
1)Secure the Motor to the main Unit.
2)Connect the Motor to the Ball Screw using the
coupling.
3)Run in thoroughly.

Coupling/BXh2% Motor/ea#l

-
=t S ()

B — e e 4

N i
i

jun MJoddng

HEREE

/ o

C

/ ) ERAFAME RENZRESE, F=HHIERERER#HITRE. ot 3

ﬁl Note)Instruction above is for Pillow type and Block type Support Units, In case of Flange type Support Units, e ,%
N~

the same procedure can be applicable. % g

Base/&EE (

E105 E106



Support Units Sz 2844

MSU Series Pillow type(Fixed side)
MSUZ%I FeE ([ ZE M)

O MBI SR / Model number notation

o | MSU—5CS
m @ | | TTT
| @6 @

7 @

2-6c1 ORIIFS (Dseries No.
MSU : KSSEZERIT ZHH T MSU : KSS Compact Support Unit Series
P OYN 7518 (@Nominal number
GRS ®3Housing type
C: fha C : Pillow type
G:Z*E=8 G : Flange type
@RS (®End-journal type
B1 TS EEM None : fixed side
S : XHEM S : supported side
| (L2 L3 )M A G ATRE S AT RE SR AR —, BUEEE.
< @ Note)In some cases, nominal number is not the same as Bearing Inner diameter.
®| @ Parts List / T3k
. v Part No. Part name Qty
\ ‘Wzﬁ THhe THER 8
,,,,, _f A
; {, SN S ﬁ;xb _ 1 Housing / 9h%& (Black Chrome coating / EB4&4L1R) 1
I V_N
e e : 1]
T T - m===
P ! 1 ! 5 2 Bearings / 7 (with Shields / H#3#R) 1 set
T ) ‘ | | : N
: ; ! ©! B \@ 3 Pressure Nut / [ X482 1
# # 4 Collar / 3h3Ef 1
B L L
5 Lock Nut / $i 425 1
6 Hexagonal socket head set screw / A7<flEEIR22 1 set
(with set piece / #ELRIER)
Unit(B4L) :mm
Brg.
Inner dia. Tightening torque Mass
Type AR AR Lock Nut of Lock Nut Bearing = Type
= L L L Ls Le L B H h B H R P d M T " " , -
me d : : : : : : : SRS | SERBNEERE | MK R me
0 0 N-cm <
—0.005 —0.03
MSU-3C 3 12.5 5.5 16.5 1.5 2 8.5 24 14.5 9 11 5 5.5 18 3.5 M3 8 M3X0.5 80 MTA03-08HP5DF 16.5 MSU-3C
MSU-4C 4 14 5.5 17.5 2 2.5 9 27 17 10 14 6 7 21 3.5 M3 10 M4X0.5 100 MTAQ4-11HP5DF 27 MSU-4C
MSU-5C 5 15 5.5 18.5 2 2 11 30.5 19.5 11 17 6 8.5 23 4.5 M3 11 M5X0.5 140 MTAO05-13HP5DF 35 MSU-5C
MSU-6C 6 17 7.5 22 2.5 2.5 12 35 22.5 13 19 8 9.5 26 5.5 M3 12 M6X0.75 190 MTA06-15HP5DF 50 MSU-6C
2
% MSU-8C 8 20 9 26 3 3 14 41 29 17 24 12 12 32 5.5 M3 14 M8X 1.0 200 MTA08-19HP5DF 96 MSU-8C
e
% S SED) FiEmmpkib& (ISCHD R AR FRM R, FENERELEBIE(NSK LG2), R A MR RIS Note 1) Angular Contact Ball Bearings (manufactured by ISC) are designed for clean room use, they are made of Stainless steel with
F2)ERIEE IR RIS T £ B, low contamination grease (NSK LG2) packed.
DI RAHE LI TE IR, BNHITRS Note 2) Pressure Nut, Collar and Lock Nut are coated with Black finishing.

Note 3) Do not disassemble Support Unit, as they are pre-loaded and pre-adjusted.

E107 E108

0n
c
o
o
o
=
3
c
=]
=

4
%
]
-+




HEREE

Jun Moddns

Support Units %2R 14

MSU Series Pillow type(Supported side)
MSUZ7% FeBY (M)

O AEISHIRK / Model number notation

‘ MSU—-5CS
G T OTTT
| @ @ 3 4

Ls

3 2-4d1
p ORIIFS (DSeries No.
! MSU : KSSEZERIT ZHHZRT MSU : KSS Compact Support Unit Series
QNRES (@2Nominal number
MRS (®Housing type
C: & C : Pillow type
G:ZFE=8 G : Flange type
@RS @®End-journal type
TS EEM None : fixed side
S : ZHEM S : supported side
B1
® @i @ ) M RE R ATRE SR SHARET —], BUHER. _
Note)In some cases, nominal number is not the same as Bearing Inner diameter.
% 7

| |
T ‘ T T ‘ T \
— I I I I
i . ! N T Parts List / T3«
|
Ll Ll : | : Part No. Part name Qty
| | | ‘ TS SHER 5
] ]
e 1 Housing / 9% (Black Chrome coating / ZB4&4LIE) 1
B L
2 Bearing / ##i7& (with Shields / H4P4R) 1
3 Stop ring / IEEIER 1
Unit(B4L) :mm
Brg.
Inner dia. Mass
Typ AR AR Bearing Stop ring = Type
A= d L Ls Ls B H . hi B H: R P di J——" & B EHER Egg mE
0
MSU-3CS 2 8 2 4 24 14.5 9 11 5 5.5 18 3.5 602HZZ ETW-1.5(0OCHIAL / %% 4&) 8.5 MSU-3CS
MSU-4CS 3 10 2.5 5 27 17 10 14 6 7 21 3.5 623HzZ G-3(IWATA / Z2HEBT) 16 MSU-4CS
MSU-5CS 4 10 2 6 30.5 19.5 11 17 6 8.5 23 4.5 624HzZ G-4(IWATA / 22HEBT) 21 MSU-5CS
MSU-6CS 6 12 2.5 7 35 22.5 13 19 8 9.5 26 5.5 B6-113HZZ1 STW-6(OCHIAI / &4 32 MSU-6CS
MSU-8CS 6 14 3 8 41 29 17 24 12 12 32 5.5 606HZZ1 STW-6(OCHIAI / %4 60 MSU-8CS

SEL) AR E (ISCHD R AR FRM R, FHENEREZLEBIE(NSK LG2), R A MABAYSHE Note 1) Deep Groove Ball Bearing (manufactured by ISC) is designed for clean room use, it is made of Stainless steel with low
203 REHE ARSI RE S B EIF MBI E M. contamination grease (NSK LG2) packed.

Note 2) Stop ring may be the equivalent one described in the table above.

E109 E110

HEREE

jun Moddng



Support Units Sz 2844

MSU Series Flange type(Fixed side)
MSUZ%| E=T(EZEM)D

O AEISHIRK / Model number notation

MSU—5GS
T TTT
® @4

(L2) L3
2-4d1 ORINFS (DSeries No.
M MSU : KSSEZERIT ZAHZRT MSU : KSS Compact Support Unit Series
1\ @QAMES (@Nominal number
3 4 B S OIS (®Housing type
< C: & C : Pillow type
: G:ZxE=® G : Flange type
,,,,, ~ ] \‘ @HIHTTS (®End-journal type
5 L AL I % 4 AviE \ THS  BlEM None : fixed side
[ Vo \ S : M S : supported side
) THEMZRAHNAMRE S AR SWMANEL—B, BUE TR,
I e Note)In some cases, nominal number is not the same as Bearing Inner diameter.
{} < — Parts List / EH3%
| \(D Part No. Part name Qty
TS THEMR g
i ) 1 Housing / #%& (Black Chrome coating / ZB{&403E) 1
B 4
2 Bearings / 47 (with Shields / #34R%) 1 set
L1 L
3 Pressure Nut / [ X128 1
4 Collar / 3hER 1
5 Lock Nut / $i X426 1
6 Hexagonal socket head set screw / A7 1EFIIRZL 1 set
(with set piece / #EMIHR)
Unit(B4L) :mm
Brg.
Inner dia. Tightening torque Mass
Typ AR R Lock Nut of Lock Nut Bearing = Type
= L L L L F La B Df D P d M T . - p =
ns d : : . : HEEE |MRESHEEME  EMOmE | L we
0 N-cm <
—0.005
MSU-3G 3 12.5 5.5 16.5 1.5 3 7.5 11 23 11 17 3.5 M3 8 M3X0.5 80 MTA03-08HP5DF 12.5 MSU-3G
MSU-4G 4 13.5 5.5 17.5 1.5 3 8.5 14 26 14 20 3.5 M3 10 M4X0.5 100 MTA04-11HP5DF 20 MSU-4G
MSU-5G 5 15 5.5 18.5 2 3 10 17 29 17 23 3.5 M3 11 M5X0.5 140 MTAO05-13HP5DF 30 MSU-5G
MSU-6G 6 17 7.5 22 2.5 4 12 19 34 19 26 4.5 M3 12 M6 X0.75 190 MTA06-15HP5DF 42 MSU-6G
2 2
3 MSU-8G 8 20 9 26 3 4 16 24 39 24 31 4.5 M3 14 M8X 1.0 200 MTA08-19HP5DF 70 MSU-8G 3
ﬁ)ﬁ 3 ;i)ﬁ S
% S ) FasE A EkihR (ISCHD R AR ERM B, FHFENBRELIDBEE (NSK LG2), 2Tt MAR A Eh& o Note 1) Angular Contact Ball Bearings (manufactured by ISC) are designed for clean room use, they are made of Stainless steel with % S
20 ERIEE IR SRR AT T £ BAE. low contamination grease (NSK LG2) packed.
DI RAHE LI TE B, BMHFEITIRS . Note 2) Pressure Nut, Collar and Lock Nut are coated with Black finishing.

Note 3) Do not disassemble Support Unit, as they are pre-loaded and pre-adjusted.

E111 E112



Support Units X Z22R%

MSU Series
MSUZ%I

Flange type(Supported side)
SE=RI(ZIEM)

O AEISHIRK / Model number notation

MSU —

1
o ®

2-¢d1

5GS
TTT
ONORO

ORINFS (DSeries No.
MSU : KSSEZERIT ZAHZRT MSU : KSS Compact Support Unit Series
5 QRFES @Nominal number
—— MRS (®Housing type

C: & C : Pillow type
G:E=H G : Flange type

ffffff @HIHTTS @®End-journal type
TS BEEM None : fixed side
S : ZHEM S : supported side

— ) M BRA I ATRE S AR SHARER—], MIETEE.

Note)In some cases, nominal number is not the same as Bearing Inner diameter.

- @-

HEREE

Jun Moddns

Parts List / &
Part No. Part name Qty
EHS THBMR HE
1 Housing / #M5%& (Black Chrome coating / Z$&A4bE) 1
2 Bearing / 4#i7& (with Shields / #4P#7) 1
3 Stop ring / IEEHFF 1
Unit(B4L) :mm
Brg.
Inner dia. Mass
Typ b pEQ IS EES Bearing Stop ring = Type
= L F L B Df D P d _ BE -
k=) d ! ! 15 A By % R LEEHER . RS
0
—0.005
MSU-3GS 2 8 3 3 11 23 11 17 3.5 602HZZ ETW-1.5(OCHIAL / %&4&) 7.5 MSU-3GS
MSU-4GS 3 10 5 14 26 14 20 3.5 623HzZ G-3(IWATA / Z2HEBT) 12 MSU-4GS
MSU-5GS 4 10 5 17 29 17 23 3.5 624HzZ G-4(IWATA / 2HET) 16 MSU-5GS
MSU-6GS 6 10 5 19 34 19 26 4.5 B6-113HZZ1 STW-6(OCHIAI / &4 24 MSU-6GS
MSU-8GS 6 10 6 24 39 24 31 4.5 606HZZ1 STW-6(OCHIAI / &4 40 MSU-8GS

D FAERER (ISCEDRAB A FRM R, HEANBRE
F2) R ERER BRI AT RS BRI S AE N E AR~ .

E113

HiE RS (NSK LG2), BTt A& A5 .

Note 1) Deep Groove Ball Bearing (manufactured by ISC) is designed for clean room use, it is made of Stainless steel with low
contamination grease (NSK LG2) packed.
Note 2) Stop ring may be the equivalent one described in the table above.

El114

HEREE

jun Moddng



jun MJoddng

HEREE

Support Units X ZR2A

Fixed side Ball Bearings for MSU series Angular Contact Ball Bearings(Stainless type)
MSU &5/ [E] £ il %h 7 FHERAER AR (R SF AR

Contact Angle
R
8’

R2

Eﬁﬁ\\

od —0.005

¢df

ri

5
2

0
9D _0.005

r2

$Db

|
|
|
|
|
‘ E}
|

4Df
[
[
T =

DB Type DF Type
(REFHE) ONEITRIE)
SHESEE ShESRE
B DB type DF type DB Configuration DF Configuration
(Inner ring pre-load type) (Outer ring pre-load type) DBHEA DFE&
**Silver colored shields are outside **Bronze colored shields are outside
)N =] H s . .
O AEIS IR / Model number notation HEFF Y X [EH%E / Recommended tightening torque
DORY|F= (MSeries No. Unit(#41) :N-cm (kgf-cm)
MTA 08 — 1 9 H P5 D F @AM R (mm) @1nner diameter of Bearing (mm) Type / BE DF type DB type
@#AEIME (mm) (Outer diameter of Bearing (mm) DF#! DBE!
| | | | | | @Mﬂ?g&% @Material MTA02-06HP5DF/DB 19.6(2.0) 9.8(1.0)
H : TN H :Stainless Steel
. MTA03-08HP5DF/DB 19.6(2.0) 14.7(1.5)
@ @ @ @ @ 6 T :EHEN T :Bearing Steel /
R LR ®Accuracy grade MTA04-11HPSDF/DB 49(5.0) 19.6(2.0)
HYFPs Equivalent to P5 MTAO05-13HP5DF/DB 49(5.0) 24.5(2.5)
4H A 1)
©E&XE N ®Duplex type MTA06-15HP5DF/DB 78.4(8.0) 29.4(3.0)
DF: IEE4E DF :Face to Face duplex
DB: BEAL DB:Back to Back duplex MTA08-19HP5DF/DB 78.4(8.0) 39.2(4.0)
Unit(BfL) :mm
i i Ky i : U=l Ky
Dimension / EER~F Eesia el Belilg) Abutment & Fillet / #EHFRHRER T
Chamfer (min.) / Bl R~ (&/\) ERENH - DF type / DFE! DB type / DBE!
Type idth Limit Speed Mass Type
e 1.D. 0O.D. Widt Vr R 5 Filg="
= N SR TR ca o ¥ Df df Rf r Db db Rb rb = =
fd fD B ri r2 R1 R2 ) ) o= max. min. max. max. max. min. max. max.
=R =/ PN PN =X =/ =X =X
MTA02-06HP5DF/DB 2 6 3 0.10 0.10 0.10 0.04 470 360 26,000 5.0 2.8 0.10 0.10 5.3 3.0 0.04 0.10 0.8 MTA02-06HP5DF/DB
MTA03-08HP5DF/DB 3 8 4 0.10 0.10 0.15 0.03 820 670 22,000 6.7 3.9 0.15 0.10 7.2 4.4 0.03 0.10 1.8 MTA03-08HP5DF/DB
MTA04-11HP5DF/DB 4 11 4.5 0.20 0.20 0.20 0.10 1250 1130 17,000 8.9 5.1 0.20 0.20 9.5 6.2 0.10 0.20 3.8 MTA04-11HP5DF/DB
MTA05-13HP5DF/DB 5 13 5 0.20 0.20 0.20 0.10 1780 1740 16,000 10.8 6.1 0.20 0.20 11.3 7.2 0.10 0.20 5.6 MTA05-13HP5DF/DB
MTA06-15HP5DF/DB 6 15 5.5 0.20 0.20 0.20 0.20 2350 2360 14,000 12.5 7.2 0.20 0.20 13.2 8.6 0.20 0.20 7.8 MTA06-15HP5DF/DB
MTA08-19HP5DF/DB 8 19 6.5 0.20 0.20 0.30 0.30 3400 3480 13,000 15.8 9.4 0.30 0.20 16.8 11.4 0.30 0.20 14.5 MTA08-19HP5DF/DB
w0
C
1) FRIEmIkA (SCRDRB R FEWM R, FEANBRRZLFBIE(NSK LG2), R AL MR IHE  NEEE, h Al BHE @M R (SUI) JniEHE Note 1) Angular Contact Ball Bearings (manufactured by ISC) are designed for clean room use, they are made of Stainless steel with )4+§
T B R AR O = & low contamination grease (NSK LG2) packed. Ba
2) A E AN, FREIFRIE X 5 DFRIsDBE (SR EED. If necessary, Bearing steel type Angular Contact Ball Bearings with anti-fretting grease can be also provided. % S
JE3) TTEAT, i5R EH & 28 (DFRISEDBEL, Note 2) Bearing duplex can be distinguished by the color of shield plate for each duplex, please refer to figure above.
F4) HEHEE TR, MEE R m, MiEREE! Note 3) Please designate duplex number (DF or DB), when you place order.

Note 4) This series can be provided as sets of DF or DB configuration only.

E115 E116



Jun Moddns

HEREE

Support Units X Z22R%

Supported side Ball Bearings for MSU series Deep Groove Bearings(Stainless type)
MSU & 51|/ 32 12 {5 % SRIAERER (TSRS

0
$D_0.008
|

|
od 8005
4Db
|
f =
| o
|
|
\
¢db

Unit(BfL) :mm

Dimension / EERF ) :
Ba;;‘%:é;a%"g Abutment & Fillet / 7 =4 Rt
Chamfer (min.) / Bl R~ (&) - _ Mass
Typ . Limit Speed — Type
e 1.D. 0.D. Width i PR 55 = w2
= [FE Mg EEE o cor v Db db Rb b (@ s
fd D B ri R1 N ) min—t max. min. max. max.
B®X =/ =X =P N
602HZZ 2 7 3.5 0.15 0.15 320 102 63,000 6.25 3.85 0.15 0.15 0.6 602HZZ
623HZZ 3 10 4 0.15 0.15 535 175 50,000 7.98 4.35 0.15 0.15 1.7 623HZZ
624HZZ 4 13 5 0.20 0.20 1110 390 40,000 11.35 6.0 0.20 0.20 3.1 624HZZ
B6-113HZZ1 6 15 6 0.20 0.20 1470 535 40,000 13.3 7.9 0.20 0.20 4.3 B6-113HZZ1
606HZZ1 6 17 6 0.30 0.30 1920 670 38,000 14.8 8.2 0.30 0.30 6.1 606HZZ1
D FAER AR (ISCHD RA MM R, HEABRELIEBAE(NSK LG2), 2 A MG A%HH . Note 1) Deep Groove Ball Bearings (manufactured by ISC) are designed for clean room use, they are made of Stainless steel with low

contamination grease (NSK LG2) packed.

jun Moddng

HERE R

E117 E118



